Svenska Bridgeférbundet
Simultan Dagtid 2017-03-09

Partavling, 50 bord, 97 par. Antal brickor: 24. Medel: 1103.4. Frirond (*) ger egen procent.

Plac Par
1 E3
2 E8
3 Cc8
4 E9
5 B6
6 E13
7 F3
7 F20
9 E19
10 D11
11 B13
12 A6
13 B7
13 A8
15 B3
16 F26
17 F14
18 E6
19 E23
20 Bi15
21 F12
22 D7
23 B2
24 F18
25 F16
26 A2
27 D12
28 F1
29 C3
30 F8
31 C5
32 El4
33 Bl12
34 E22
35 F5
36 F7
36 F13
38 D5
39 D8
40 A3
41 C6
42 Cl1
43 Bl4
44  E16
45 B1
46 E4
a7 F22
48 Cl4
49 C9
50 Ci10
51 D3
51 Ci13
53 F11
54 F10
55 C1
56 E1l
57 D1
58 F24
59 E17
60 F2
60 F25
62 Cc7
63 F6
64 E10
65 Ad
66 D4
67 D10
68 D6
69 D2
70 Bl1
71 B9
72 Al
73 E12
74  E20
75 B5
76 B4
77 F19
78 B16
79 F15
80 F9
81 D9
82 F4
83 EI5
84 E5
85 C4a

Poang

1680.0
1469.5
1457.0
1436.7
1417.0
1400.0
1377.0
1377.0
1363.0
1345.0
1329.0
1311.6
1308.0
1308.0
1307.0
1303.0
1302.0
1299.3
1285.0
1270.0
1266.0
1251.0
1249.0
1247.0
1239.0
1236.0
1235.0
1234.0
1233.8
1232.0
1222.9
1215.0
1213.0
1203.0
1199.0
1195.0
1195.0
1178.0
1168.0
1158.0
1154.2
1134.5
1134.0
1132.0
1118.0
1112.7
1111.0
1104.0
1100.7
1093.1
1080.0
1080.0
1063.0
1059.0
1054.9
1051.6
1051.0
1048.0
1045.0
1042.0
1042.0
1038.5
1035.0
1027.6
1017.6
1014.0
1011.0
1004.0
1000.0
981.0
978.0
973.2
963.3
959.0
954.0
951.0
927.0
926.0
922.0
914.0
911.0
902.0
899.0
884.7
867.3

%

76.09
66.55
65.99
65.07
64.18
63.41
62.36
62.36
61.73
60.91
60.19
59.40
59.24
59.24
59.19
59.01
58.97
58.84
58.20
57.52
57.34
56.66
56.57
56.48
56.11
55.98
55.93
55.89
55.88
55.80
55.39
55.03
54.94
54.48
54.30
54.12
54.12
53.35
52.90
52.45
52.27
51.38
51.36
51.27
50.63
50.40
50.32
50.00
49.85
49.51
48.91
48.91
48.14
47.96
47.78
47.63
47.60
47.46
47.33
47.19
47.19
47.04
46.88
46.54
46.09
45.92
45.79
45.47
45.29
44.43
44.29
44.08
43.63
43.43
43.21
43.07
41.98
41.94
41.76
41.39
41.26
40.85
40.72
40.07
39.28

Namn

Kjell Hellstrand - Britt Hellstrand

Else Kovacs - Anders Kovacs

Leif R&ngevall - Johan Berglund

Curt Lind - Ingvar Holmér

Lars Dahlgren - Renja Jonasson
Bengt Hallgren - Cecilia Mérner
Marie Bingl6v - Gunilla Hennings
Jan-Ake Gustavsson - Arne Gustavsson
Inga Kristiansson - Arne Johansson
Marianne Gerard - Ulf Gerard
Katarina Landstedt - Agneta Moberg
Eva Baranyai - Janos Baranyai
Benny Hellman - Margareta Roos
Katarina Freitag - Lars Moquist

Jan Larsson - Set Nilsson

Marianne Tjarnlund - Claes Lindberg
Arne Melin - Maud Kylinger

UIf Frimodig - May Lindberg

Kent Wéppling - Else-Marie Wéappling
Hans Nerell - Paul lwarson
Margareta Jarheden - Margareta Ljunge
Klas Nilsson - Erik Nordenberg

Sven Arvidson - Hans Wijkstrom
Viveca Rappe - Annika Brundin

Gun Karlsson - Ake Karlsson

Kurt Karlsson - Eskil Mattsson

Mats Hallerstedt - Ralf Bystrom
Lennart Emanuelsson - Orjan Randhede
Viking Sandas - Anders Granstrom
Solveig Holm - Ingmarie Leinskold
Assar Bergstrom - Erik Sandberg
Lars Axsater - Monika Wickman

Jens Jacobsen - Nils Eriksson
Per-Olov Viterstedt - Margareta Viterstedt
Waldo Whiteman - Lennart Karlsson
Borge Rosqvist - Roland Lundberg
Kenneth Gallman - Kerstin Kardell
Lennart Gustafson - Gosta Haglund
June Sandberg - Ingrid Skoglund
Ingvar Johansson - Borje Karlsson
Vaigel Lundgren - Dorina Lundgren
Rune Nordberg - Georg Arvidsson
Anna-Greta Berg - Ingvor van Ginhoven
Lars Haglund - Idor Kihimark

Lena Normelli - Margareta Persson
Bengt Ljungcrantz - Harry Tallo
Ingemar Lindberg - Stefan Lundin
Lars Nilsson - Urban Renlund

Jan Engstrom - Anita Engstrom

Evert Westerlund - Anders Borgman
Sture Axelsson - Birgitta Gustavsson
Lars-Ingvar Norberg - Barbro Isaksson
Ulla Ouchterlony - Siv Gustavsson
Ulla Carlsson - Ulla Wahlquist
Anders Nilsen - Lennart Skold
Svante Wangberg - Per Bergstén
Lars-Eric Adolfson - Lauri Norta
Harald Danielsson - Olle Nilsson
Sture Nordlinder - Yvonne Nordlinder
Lilly Andersson - Louise Ljungberg
Hannibal Sokjer - Lars Fahraeus
Erling Hartman - Stig Bergqgvist

Stig Petersson - Bertil Helmer

Leif Lundmark - Lottie Lundmark
Harry Stenberg - Karl-Gunnar Hartwig
Lennart Djupfeldt - Mats Kvarnstrém
Eva Avenek - Lizzie Sandberg

Arne Mathiesen - Kjell Forsberg
Tommy Spangberg - Sune Engvist
Anita Sandén - Margareta Gulliksen
Jorgen Boethius - Kjell Persson
Ebbe Warme - Inger Karlsson

Leif Eliasson - Annika Haaga

Eivor Henriksson - Agneta Fréberg
Arnfinn Gulliksen - Christer Gottlieb
Leif Anderberg - Eijvor Frej

Bengt Andersson - Ingvar Jonsson
Gunnar Franzén - Radu Tomescu
Maj Danielsson - Sivert Danielsson
Bertil Andersson - Margareta Hedin
Margareta Jonsson - Méarta Larsson
Birgit Billengren - Solweig Bladh
Gunilla Ramén - Margaretha von Plomgren
Inger Nygérd - Signe von Esch

Karin Hartman - Lilian Pekonen

MID

16125
55590
10493
89512
37386
8909
83990
11951
23655
100
80314
59297
15033
84856
5220
58056
85944
41478
88572
85810
36059
12950
30066
6842
1201
29250
11306
1318
87783
32027
29682
40760
8705
53174
2111
8491
32688
17841
37801
50871
5260
12926
49605
47878
37385
4393
56706
2197
29680
85934
47247
85935
45563
92010
23874
47877
33964
36010
58732
26906
27408
85931
88456
53805
29257
11917
35611
6880
1704
25361
45557

58736
17544
48804
57114
91415
61262
37932
11916
50066
42098
39649
25338
85932

16126
56602
89140
4399
13353
87945
6841
14962
8768
9795
33198
59298
25354
9743
39725
55490
31298
87809
88573
12865
1480
12256
41392
91135
1176
29253
7156
6043
91048
32383
13322
58916
11401
53173
1196
40418
1303
3488
3419
7159
94307
12927
41377
21611
35511
30401
56707
35020
29679
49260
91663
50205
87227
36625
18701
41
12910
55230
58731
36998
26967
5263
81583
53804
29248
63279
41481
81394
10523
25248
35510

58735
53176
48775
58332
91413
62403
37933
91376
19215
40100
40826
37177
49306
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Klubb

Trosa BS

Trosa BS

Alvsby BK - Pited BS

Trosa BS - Gnesta BK

BK ALERT

Trosa BS

Filbyter Bridge

Filbyter Bridge

Trosa BS

Solstabridgen

BK ALERT
Bridgekamraterna Nybro
Rotebro BS
Bridgekamraterna Nybro

BK Bridgeliv - Norrorts Bridge
Filbyter Bridge

IFK Norrkdping - Filbyter Bridge
Trosa BS

Trosa BS

Vastra Bjare BK - Lidingd BK
Filbyter Bridge
Solstabridgen

BK ALERT

Filbyter Bridge

Filbyter Bridge
Bridgekamraterna Nybro
Karlstads BK - Hammard BK
Filbyter Bridge

Pited BS

Ljungsbro BK - Filbyter Bridge
Pitea BS

Trosa BS

Valhalla BC - Vaddo BK
Trosa BS

Filbyter Bridge

Filbyter Bridge

Filbyter Bridge

Hammaro BK

Hammaro BK
Bridgekamraterna Nybro
Pitea BS

Pited BS

BK ALERT

Trosa BS

BK ALERT

Trosa BS

Filbyter Bridge

Pited BS

Pited BS

Pited BS

Solstabridgen

Pited BS

Filbyter Bridge

Filbyter Bridge

Pited BS

Trosa BS

Solstabridgen - Karlstads BK
Filbyter Bridge

Trosa BS

Filbyter Bridge

Filbyter Bridge

Pited BS

Filbyter Bridge

Trosa BS

Bridgekamraterna Nybro
Solstabridgen - Karlstads BK
Solstabridgen

Solstabridgen

Karlstads BK - Solstabridgen
BK ALERT

BK ALERT

Trosa BS

Trosa BS

BK ALERT

BK S:t Erik - BK ALERT
Filbyter Bridge

BK ALERT - Norrorts Bridge
Filbyter Bridge

Filbyter Bridge
Solstabridgen

Filbyter Bridge

Trosa BS

Trosa BS

Pited BS




86 F21  862.0 39.04 Karl-Axel Thornstrom - Inga-Lill Soldin 1443 83981 Filbyter Bridge
87 E2 860.7 38.98  Gunilla Ehlin - Birgitta Kempe 62921 62922 TrosaBS
88 F23 857.0 38.81 Anita Kellagher - Angela Sokjer 28611 27407 Filbyter Bridge
89 B8 820.0 37.14 Eva Thornell - Christina Akerblom 37874 47051 Norrorts Bridge
90 E21 816.0 36.96 Bruno Astrand - Marianne Haraldsson 53524 54838 Trosa BS
91 E7 8149 36.91 Gunilla Nystréom - Sonja Uulas 53177 53172 Trosa BS
92 E11 7811 35.38 Ragnar Ward - Gun-Britt Ward 93683 93682 TrosaBS
93 Ci12 7789 35.28  Anders Jonsson - Bertil Nordberg 44018 44017 Pited BS
94 F17 754.0 34.15 Nisse Askehed - Séren Widén 29397 29396 Filbyter Bridge
95 B10 709.0 32.11 Margareta Lindquist - Kerstin Lannegren 56243 57600 BK S:tErik - BK ALERT
96 E18 704.0 31.88 Ann Forsberg - Else-Maj Sigfridsson 62925 63114 TrosaBS
97 A5 682.8 30.92 Anni Zastrav - Eje Sandell 60270 58910 Bridgekamraterna Nybro
1 & KKn983 Bésta kontrakt 2 & K95 Bésta kontrakt 3 4962 Bésta kontrakt
Nord vD108 4y O D -1 100 Ost v 975 2v O =-110 Syd v 952 INTV =-90
Ingen 7 NS +96 ov + D93
«D854 & ¢ v & NT #E9873 & ¢ v &4 NT #DKn106 & ¢ v & NT
«ED 41052 N9 6 4965 4 ED843 &Kn N7 4556 « E87 4KKn1043 N 7 7 6 5 6
v 954 vEKNn7632 S 9 6 4 9 5 vKn843 vEK10 S7 4556 vKn874 vK10 S77656
¢ Kn852 ¢ EK9 046 9 45 ¢ KKn3 ¢ 107542 058876 ¢Kn42 +865 055677
210973 &K V46945 «D #10652 V58876 #K53 »E84 V55677
4764 410762 D5
vK v D62 vED63
+D10643 + ED8 + EK107
#EKn62 #KKn4 #972
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
D4 D3 24 N+2 ¢A 170 88.0 40|F11 F21 4vy O-4 &4 200 920 0.0| F8 F14 24 O-2 ¢A 200 92.0 0.0
E8 E17 34 N+1 &K 170 880 40| A8 A3 INN+2 ¢K 150 90.0 20| D8 D6 INS+1 7 120 89.0 3.0
C13 Cl1l 34 N+l ¢K 170 880 40|F16 F2 INN+1 4J 120 88.0 40|E22 E5 INS+1 v4 120 89.0 3.0
E23 E2 34 N+1 &K 170 88.0 40| B3 B5 3vV-2 ¢9 100 840 80|E23 E4 2v N= A 110 86.0 6.0
F24 F6 34 N+1 ¢A 170 880 40| F5 F22 24 V-2 &A 100 840 80| C5 C7 240-1 ¢A 100 78.0 14.0
B3 B5 34 N= ¢A 140 82.0 10.0| F13 F25 3v V-2 &A 100 840 80| B7 B15 24 O-1 ¢K 100 78.0 14.0
E6 E19 4v O-2 44 100 77.0 15.0| D2 D11 INN= vK 90 78.0 140| A8 A3 34 0-1 ¢A 100 78.0 14.0
C9 C10 3¢ O-2 vK 100 77.0 150 E8 E17 INN= 4] 90 78.0 140|C10 Cl11 24 O-1 ¢A 100 78.0 14.0
D9 D1 4v0O-2 47 100 77.0 15.0| F12 F23 INN= +4 90 78.0 140|E13 E14 24 O-1 ¢A 100 78.0 14.0
B13 Bl 4v O-2 #A 100 77.0 15.0| C3 Cl11 2y V-1 +6 50 68.0 240|F16 F9 24 O-1 ¢A 100 78.0 14.0
F1 F14 3v O-1 3 50 63.0 29.0| C4 C6 3v V-1 A 50 68.0 240|E19 E8 24 O-1 +¢A 100 78.0 14.0
A6 A2 4v O-1 +4 50 63.0 29.0| E6 E19 2v V-1 ¢9 50 68.0 240| C1 C8 INS= v4 90 64.0 28.0
D7 D12 4y O-1 46 50 63.0 29.0| F9 F17 2v O-1 &4 50 68.0 24.0| C4 Cl12 INS= v7 90 64.0 28.0
C8 Cl4 4v O-1 +6 50 63.0 29.0| F10 F19 2v V-1  ¢9 50 68.0 24.0| B9 B12 INS= v7 90 64.0 28.0
D8 D6 4v O-1 3 50 63.0 29.0| E18 E7 2v O-1 42 50 68.0 24.0| E12 E15 INS= v4 90 64.0 28.0
Cl2 C7 3v Q-1 4 50 63.0 29.0|F24 F6 14 V-1 ¢9 50 68.0 24.0| F13 F24 INS= v7 90 64.0 28.0
E15 E10 4v O-1 ¢4 50 63.0 29.0 | E20 E5 Pass 60.0 32.0|(B14 B8 INS= va 90 64.0 28.0
F16 F2 3v O-1 46 50 63.0 29.0| A6 A2 1la V= +9 -80 57.0 35.0| E16 E11 2¢ S= a7 90 64.0 28.0
F18 F3 3v O-1 46 50 63.0 29.0| D9 D1 1a V= SA -80 57.0 35.0| F6 F23 1¢ S= oA 70 55.0 37.0
E22 E3 4v0O-1 ¢3 50 63.0 29.0| A5 A4 INO= +8 -90 53.0 39.0| F10 F18 1aS= v4 70 55.0 37.0
B8 B1l 2NS-1 v4 -50 50.0 420|F15 F8 INO= %] -90 53.0 39.0| Bl B16 INS-1 8 -50 45.0 47.0
B15 B6 44 N-1 ¢A -50 50.0 42.0| B8 Bll 24 S-1 #Q -100 44.0 48.0| B4 B6 INS-1 v7 -50 45.0 47.0
E16 E9 34 N-1 ¢A -50 50.0 42.0| C8 C14 INN-1 &J -100 44.0 480| F5 F21 INS-1 v4 -50 45.0 47.0
FO F17 1v O+1 &7 -110 43.0 490 D8 D6 INN-1 4] -100 44.0 48.0| A6 A2 1¢ S-1 &3 -50 45.0 47.0
F11 F21 2y O= +3 -110 43.0 49.0| C9 C10 INN-1 4J -100 44.0 48.0| D7 D12 INS-1 v4 -50 45.0 47.0
B16 B12 2v O= 46 -110 43.0 49.0|C13 Cl1 14 S-1 £Q -100 44.0 48.0| E9 E18 INN-1 3 -50 45.0 47.0
E20 E5 1v O+1 ¢4 -110 43.0 49.0|E21 E4 3NS-1 +¢K -100 44.0 48.0| F11 F20 INS-1 +8 -50 45.0 47.0
D2 D11 2vy O+1 3 -140 30.0 62.0 | E23 E2 INN-1 &2 -100 44.0 48.0|F25 F7 INS-1 v4 -50 45.0 47.0
C3 Cl11 3vO-= SA -140 30.0 62.0| F1 F14 2v V= +9 -110 30.0 62.0| D9 D1 14 O= ¢ A -80 36.0 56.0
F5 F22 1v O+2 3 -140 30.0 62.0| D7 D12 14 V+1 49 -110 30.0 62.0|B13 B2 INV= +Q -90 34.0 58.0
F7 F26 2y O+1 &7 -140 30.0 62.0| B9 B4 2v V= +9 -110 30.0 62.0| F2 F15 INS-2 &7 -100 29.0 63.0
B9 B4 1lvO+2 3 -140 30.0 62.0| D10 D5 1a V+1 &A -110 30.0 62.0| A5 A4 INS-2 &3 -100 29.0 63.0
D10 D5 2v O+1 &7 -140 30.0 62.0|B15 B6 2v V= +9 -110 30.0 62.0|B10 B5 INS-2 v4 -100 29.0 63.0
F12 F23 29y O+1 46 -140 30.0 62.0|B16 B12 2v V= +9 -110 30.0 62.0 | E17 E10 INS-2 v4 -100 29.0 63.0
B14 B7 3v O= +3 -140 30.0 62.0|E16 E9 2v V= +6 -110 30.0 62.0| F1 F26 24 O= *A -110 17.0 75.0
F15 F8 2y O+1 &A -140 30.0 62.0|E22 E3 2NV= a5 -120 22.0 70.0| D2 D11 24 O= ¢ A -110 17.0 75.0
C4 C6 2vO+2 ¢4 -170 11.0 81.0|B14 B7 2¢ O+2 &4 -130 20.0 72.0| C3 C6 24 O= +K -110 17.0 75.0
F4 F20 3v O+1 3 -170 11.0 81.0|F18 F3 INO+2 2 -150 18.0 74.0(D10 D5 24 O= + K -110 17.0 75.0
A5 A4 3v O+1 &2 -170 11.0 81.0| D4 D3 INN-2 ¢4 -200 10.0 82.0| F12 F22 14 O+1 +A -110 17.0 75.0
B10 B2 2v O+2 46 -170 11.0 81.0| F7 F26 3#N-2 YA -200 10.0 82.0|F17 F3 24 O= vA -110 17.0 75.0
F10 F19 1v O+3 &2 -170 11.0 81.0|B10 B2 INN-2 ¢4 -200 10.0 82.0|F19 F4 24 O= *A -110 17.0 75.0
E1l E14 2v O+2 &2 -170 11.0 81.0 | E11 E14 34S-2 44 -200 10.0 82.0|E21 E6 24 O= ¢ A -110 17.0 75.0
E12 E13 2vy O+2 +¢3 -170 11.0 81.0|E12 E13 INN-2 ¥vA -200 10.0 82.0| D4 D3 24 O+1 +A -140 8.0 84.0
F13 F25 1lv O+3 &2 -170 11.0 81.0|B13 Bl 24 S-2 #Q -200 10.0 82.0| E7 E20 INS-3 v4 -150 6.0 86.0
E18 E7 2v O+2 ¢4 -170 11.0 81.0|E15 E10 24 S-2 #Q -200 10.0 82.0| C9 Cl14 14DO= +A -160 4.0 88.0
E21 E4 2v O+2 ¢4 -170 11.0 81.0| F4 F20 INN-3 ¢4 -300 2.0 90.0(B11 B3 24 O+ ¢A -170 2.0 90.0
A8 A3 34DN-3 vA -500 0.0 92.0|C12 C7 34 S-5 #Q -500 0.0 920| E1 E3 INS-4 v7 -200 0.0 92.0
- C5 51.0 - C5 51.0 - Al 40.6
- Al 40.6 - Al 40.6 | C13 - 45.0
- E1 43.8 - B 43.8 - E2 35.9
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4 4762 Basta kontrakt 5 4 KKn3 Basta kontrakt 6 4 DKn743 Basta kontrakt
Vast vD103 5v V =-650 Nord v KD 6NT N = 1440 Ost v 8654 3NT O =-600
Alla ¢ DKn63 NS + K109 ov ¢ KDKn
#Kn63 & ¢ v & NT #EK1072 & ¢ v & NT *K & ¢ v & NT
«ED10 4943 N46 245 D108 4652 N 108 121212 410652 #EK N3 4364
vEK52 v Kn9864 S46 245 v82 v 109 S 9 8 121212 v3 v KDKn92 S34364
10982 ¢5 08 7 118 8 ¢E74 ¢Kn86532 0O 3 4000 ¢E9874 ¢2 0109 9 7 9
#E10  #K985 vV 8 7 118 8 #Kn9843 #D5 V34000 #ED2  #98653 vV 109 9 7 9
4 KKn85 4E974 498
v7 v EKn76543 v E107
¢ EK74 +D ¢ 10653
*D742 *6 #Kn1074
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
E9 E18 INV-1 ¢3 100 91.0 1.0| E8 E21 6v S+1 #3 1460 92.0 0.0|B10 Bl 24DV-2 «K 500 92.0 0.0
E23 E4 4v0-1 A 100 91.0 1.0|Cl13 C3 6NN= ¢5 1440 89.0 3.0|Cl1l1 C12 3NV-4 &3 400 90.0 2.0
E12 E15 1¢ N= 8 70 88.0 4.0|E23 E6 6NN-= ¢5 1440 89.0 3.0 A1 A3 44V-3 &K 300 84.0 8.0
F2 F15 INV+1 46 -120 82.0 10.0| F3 Fl6 6v S= ¢A 1430 80.0 12.0| E2 E4 3NO-3 ¢3 300 84.0 8.0
D10 D6 INV+1 3 -120 82.0 10.0| F7 F24 6v S= +9 1430 80.0 12.0| E8 E21 2NV-3 44 300 84.0 8.0
F10 F18 INV+1 3 -120 82.0 10.0|Bl12 B4 6v S= ¢A 1430 80.0 12.0|C13 C3 3NV-3 ¢K 300 84.0 8.0
F16 F9 INV+l 6 -120 82.0 10.0 | F13 F23 6v S= ¢A 1430 80.0 12.0|B16 B2 3NV-3 43 300 84.0 8.0
E17 E10 INV+1 3 -120 82.0 10.0| F18 F4 6v S= &A 1430 80.0 12.0| C4 C7 3NV-2 ¢K 200 74.0 18.0
Bl B16 2y V+1 46 -140 73.0 19.0| F20 F5 6v N= ¢3 1430 80.0 12.0| A6 A5 3#0-2 49 200 74.0 18.0
D5 D4 3v V= a7 -140 73.0 19.0| E22 E7 6v N= ¢3 1430 80.0 12.0| F11 F19 3vO-2 49 200 74.0 18.0
B13 B2 2y V+1 43 -140 73.0 19.0| A1 A3 4v S+3 #4 710 63.0 29.0| F12 F21 2v O-2 49 200 74.0 18.0
E22 E5 2v V+1 3 -140 73.0 19.0| D1 D7 4vy N+3 #3 710 63.0 29.0| E13 E16 2NO-2 49 200 74.0 18.0
F5 F21 INV+2 &7 -150 68.0 24.0| F1 F25 4y S+3 ¢4 710 63.0 29.0 |E14 E15 24 N= vK 110 68.0 24.0
F1 F26 2vy V+2 +Q -170 53.0 39.0| D5 D4 4v S+3 2 710 63.0 29.0| A4 A8 3NV-1 «4 100 62.0 30.0
C3 C6 2y V+2 47 -170 53.0 39.0| A6 A5 4v S+3 #3 710 63.0 29.0| B5 B7 3#0-1 v7 100 62.0 30.0
B4 B6 3v V+l a7 -170 53.0 39.0| D8 D12 4y S+3 #4 710 63.0 29.0|B11 B6 2NV-1 &7 100 62.0 30.0
C4 Cl2 3v V+1 #Q -170 53.0 39.0| B9 Bl14 4y S+3 &T 710 63.0 29.0|B12 B4 2v0O-1 «9 100 62.0 30.0
A6 A2 3v V+1l a2 -170 53.0 39.0|C11 C12 4y N+3 &7 710 63.0 29.0| E22 E7 3vO-1 49 100 62.0 30.0
F6 F23 2y V+2 &J -170 53.0 39.0| F12 F21 4y S+3 8 710 63.0 29.0| F1 F25 24 N-1 vK -50 55.0 37.0
E7 E20 3v V+1 v3 -170 53.0 39.0|B13 B3 4vy S+3 #8 710 63.0 29.0 | E23 E6 34 N-1 ¢2 -50 55.0 37.0
D8 D12 3v V+1 +¢6 -170 53.0 39.0| A4 A8 3NN+3 ¢5 690 450 47.0( F3 F16 2# 0= +6 -90 52.0 40.0
Cl10 Cl11 3v O+1 +A -170 53.0 39.0|B11 B6 3NN+3 3 690 450 47.0( F7 F24 24 N- vK -100 49.0 43.0
F13 F24 2v O+2 +A -170 53.0 39.0 | E13 E16 3NN+3 2 690 450 47.0(D10 D6 24 N-2 v¥K -100 49.0 43.0
B14 B8 2v V+2 3 -170 53.0 39.0|C14 C10 3NN+3 ¢3 690 450 47.0( D1 D7 24 0O+1 T -110 34.0 58.0
E16 E11 2y V+2 3 -170 53.0 39.0 | E14 E15 3NN+3 3 690 450 470 E1 E5 2vO= *J -110 34.0 58.0
E19 E8 3vyV+l ¢Q -170 53.0 39.0|B16 B2 3NN+3 5 690 450 47.0| F2 F14 24 O+1 45 -110 34.0 58.0
E21 E6 2v O+2 +A -170 53.0 39.0|E17 E12 3NN+3 ¢5 690 450 47.0( D5 D4 3#0-= 49 -110 34.0 58.0
Cl C8 2v V+3 43 -200 27.0 65.0| F26 F8 3NN+3 42 690 450 47.0| C6 C8 240+1 3 -110 34.0 58.0
El E3 3vV+2 +¢Q -200 27.0 65.0| E1 E5 4vy S+2 48 680 24.0 68.0| B8 B15 24 O+1 +¢5 -110 34.0 58.0
D3 D11 2v V+3 a7 -200 27.0 65.0| D3 D11 4v S+2 v8 680 24.0 68.0| D8 D12 34 V= 49 -110 34.0 58.0
A5 A4 24 S-2 #A -200 27.0 65.0| C4 C7 4vS+2 92 680 24.0 68.0| B9 Bl4 3+ 0= 49 -110 34.0 58.0
A8 A3 3v V+2 &3 -200 27.0 65.0| B5 B7 4¢vyS+2 +¢A 680 24.0 68.0 | F13 F23 34 0= 49 -110 34.0 58.0
F8 F14 2v V+3 42 -200 27.0 65.0|] C5 Cl1 4v S+2 ¢A 680 24.0 68.0|C14 C10 3+ 0= 49 -110 34.0 58.0
D9 D2 2v V+3 &7 -200 27.0 65.0] C6 C8 4y S+2 48 680 24.0 68.0|E18 El11 2v O = *4 -110 34.0 58.0
B10 B5 2y V+3 46 -200 27.0 65.0| F6 F22 4y S+2 8 680 240 68.0| F18 F4 24 0O+1 &9 -110 34.0 58.0
Bll B3 3vyV+2 46 -200 27.0 65.0| D9 D2 4y S+2 «T 680 240 68.0|F20 F5 24 0O+1 T -110 34.0 58.0
F12 F22 2v V+3 ¢Q -200 27.0 65.0|B10 Bl 4vy S+2 48 680 240 68.0| F9 F15 2NO= 49 -120 20.0 72.0
E13 E14 2y V+3 &7 -200 27.0 65.0| D10 D6 4y S+2 +¢A 680 24.0 68.0| B13 B3 24 0+2 &9 -130 18.0 74.0
F17 F3 3v V+2 +6 -200 27.0 65.0| E10 E19 4v S+2 ¢A 680 240 68.0] C5 Cl1 2v O+1 &7 -140 16.0 76.0
F19 F4 2v V+4 ¢ -230 14.0 78.0| F11 F19 4v S+2 A 680 240 68.0| D3 D11 34 N-3 ¢2 -150 12.0 80.0
C9 Cl14 34 N-5 5 -500 12.0 80.0 | F17 F10 4v S+2 A 680 240 68.0| D9 D2 24 N-3 vK -150 12.0 80.0
F11 F20 3NV= a7 -600 10.0 82.0| F2 F14 4v S+1 48 650 80 84.0(F26 F8 34 N-3 ¢2 -150 12.0 80.0
D1 D7 4v V= +Q -620 6.0 86.0| B8 B15 4v S+1 #3 650 8.0 84.0| F6 F22 3NO= *4 -600 6.0 86.0
B9 Bl12 4v V= a7 -620 6.0 86.0| F9 F15 54 N= +8 650 8.0 84.0 | E17 E12 3NO= *4 -600 6.0 86.0
F25 F7 4v O= ¢A -620 6.0 86.0| E18 E11 2NN= vT 120 4.0 88.0|F17 F10 3NO= *4 -600 6.0 86.0
B7 B15 4v V+1 a7 -650 2.0 90.0| E2 E4 44 N-1 +38 -100 1.0 91.0|E10 E19 4v O= 48 -620 2.0 90.0
C5 C7 3¢DN-4 ¢5 -1100 0.0 920(E20 E9 54 N-1 +6 -100 1.0 91.0|E20 E9 3NV+1 ¢K -630 0.0 92.0
- Al 40.6 - C9 45.9 - C9 45.9
C13 - 45.0 - A2 51.5 - A2 515
- E2 35.9 - E3 70.0 - E3 70.0
7 4 Kn4 Basta kontrakt 8 4 Kn10984 Basta kontrakt 9 473 Basta kontrakt
Syd v 1076543 4ANT V =-630 Vast v K7 5NT N =460 Nord vE109 3¢ N =110
Alla +9 Ingen ¢ KD84 ov ¢ KD9852
#D765 % ¢ v & NT #32 % ¢ v o NT #K10 & ¢ v & NT
472 « D9853 N3 4543 4D76532 «K N 8 11111011 «ED « KKn964 N6 9667
vED92 ¢8 S 34543 v 86 v DKn3 S 8 11111011 vD742  vK63 S6 9667
¢ EK103 4 Kn52 O 109 8 9 10 ¢ EKn ¢ 10653 042232 ¢ Knl06 43 06 4674
#E94 #KKn83 VvV 108 7 9 10 #1084 #D9765 V42232 #EKN53 #972 V7461735
4 EK106 oE 410852
v KKn v E109542 v Kn85
+ D8764 972 ¢ E7
#102 #EKKn «D864
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
E3 E5 3NV-3 +5 300 92.0 0.0|D10 D7 24DV-4 ¢K 800 920 00| D9 D3 3v V-3 #K 300 90.0 2.0
El E7 24V-2 ¢9 200 87.0 50| E3 E5 3NS+2 ¢J 460 90.0 2.0|E12 E21 2vV-3 &7 300 90.0 2.0
C3 C10 44 O-2 +¢6 200 87.0 50| Al A3 4v S+1 &8 450 70.0 22.0|F22 F7 44 O-3 ¢A 300 90.0 2.0
B6 B8 3NV-2 ¢9 200 87.0 50| F1 F24 4v S+1 ¢A 450 70.0 22.0| B1 B8 3vV-2 &7 200 84.0 8.0
E14 E17 3NV-2 ¢5 200 87.0 50| C3 C10 4v S+1 &T 450 70.0 22.0| E4 E6 34 0-2 ¢A 200 84.0 8.0
A6 A5 2v S+1 &3 140 82.0 10.0| F3 F15 4v S+1 ¢A 450 70.0 22.0|E10 E23 34 0-2 ¢A 200 84.0 8.0
F3 F15 24 V-1 9 100 70.0 22.0| C5 C8 4v S+1 42 450 70.0 22.0|B13 B5 2NN+1 v3 150 78.0 14.0
F7 F23 3NV-1 9 100 70.0 22.0| A6 A5 4y N+1 ¢A 450 70.0 22.0|E15 E18 INS+2 #3 150 78.0 14.0
Bll B2 24 V-1 9 100 70.0 22.0| B6 B8 4v S+1 ¢A 450 70.0 22.0|E19 E14 2¢ N+3 v3 150 78.0 14.0
D11 D4 24 V-1 ¢9 100 70.0 22.0| C7 C9 4vy S+1 ¢A 450 70.0 22.0| C4 Cl11 3¢ N+1 &9 130 71.0 21.0
E11 E20 INV-1 v7 100 70.0 22.0| F7 F23 4v S+1 ¢A 450 70.0 22.0| D6 D5 2¢ N+2 3 130 71.0 21.0
Cl2 C1 3NV-1 +9 100 70.0 22.0| D9 D3 4v S+1 &T 450 70.0 22.0| F8 F24 2¢ N+2 +3 130 71.0 21.0
B13 B4 34 O-1 T 100 70.0 22.0| E9 E22 4v S+1 ¢A 450 70.0 22.0|B15 B10 2¢ N+2 ¢4 130 71.0 21.0
Cl13 C4 3NV-1 v5 100 70.0 22.0|D11 D4 4v S+1 ¢A 450 70.0 22.0|E22 E11 INN+1 49 120 66.0 26.0
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F13 F22 3NV-1 ¢9 100 70.0 22.0|B12 B7 4v S+1 ¢A 450 70.0 22.0| A1l A6 2¢ N+1 &2 110 44.0 48.0
B15 B9 24 V-1 9 100 70.0 22.0|B13 B4 4v S+1 ¢A 450 70.0 22.0| D1 D12 2¢ N+1 3 110 44.0 48.0
E19 E12 24 V-1 9 100 70.0 22.0|C13 C4 4v S+1 T 450 70.0 22.0| F1 F23 2¢ N+1 +3 110 44.0 48.0
B3 B16 INV= +9 -90 58.0 34.0|F13 F22 4v S+1 42 450 70.0 22.0| B2 B6 2¢ N+1 ¥3 110 44.0 48.0
Bl B5 24 V= +9 -110 53.0 39.0| F14 F9 4v S+1 ¢A 450 70.0 22.0| D2 D8 2¢ N+1 vK 110 44.0 48.0
D1 D12 24 V= +9 -110 53.0 39.0|B15 B9 4v S+1 ¢A 450 70.0 22.0| F2 F25 2¢ N+1 +3 110 44.0 48.0
D6 D5 24 V= +9 -110 53.0 39.0 | E19 E12 4y S+1 #4 450 70.0 22.0| E3 E7 3¢ N= v3 110 44.0 48.0
F10 F16 24 V= +9 -110 53.0 39.0| B3 B16 3NS+1 46 430 49.0 43.0| F3 F14 2¢ N+1 v6 110 44.0 48.0
F8 F25 2NV = v3 -120 45.0 47.0|E23 E8 3NN+1 &5 430 49.0 43.0| F5 F18 3¢ N= v3 110 44.0 48.0
D9 D3 2NV= +9 -120 45.0 47.0| B1 B5 4v S= ¢A 420 43.0 490 C6 C9 2¢ N+1 vK 110 44.0 48.0
E9 E22 2NV = 9 -120 45.0 47.0|B10 B14 4v S= 43 420 43.0 49.0| B7 B9 2¢ N+1 ¢4 110 44.0 48.0
B12 B7 2NV= v6 -120 45.0 47.0|B11 B2 4v S= ¢A 420 43.0 49.0| C7 C3 2¢ N+1 7 110 44.0 48.0
F1 F24 24 O+1 T -140 35.0 57.0|Cl12 C1 4v S= ¢A 420 43.0 490 A8 A5 2¢ N+1 v3 110 44.0 48.0
A4 A8 24 V+l v6 -140 35.0 57.0| D1 D12 3y S+2 &5 200 32.0 60.0| C8 C10 2¢ N+1 49 110 44.0 48.0
D10 D7 24 V+1 9 -140 35.0 57.0| E1 E7 3vS+2 ¢A 200 32.0 60.0| D11 D4 2¢ N+1 #9 110 44.0 48.0
F14 F9 24 O+1 K -140 35.0 57.0| F2 F26 24 V-4 &2 200 32.0 60.0| F11 F17 2¢ N+1 v6 110 44.0 48.0
F18 F11 24 V+1 9 -140 35.0 57.0| A4 A8 3vy S+2 3 200 32.0 60.0|C13 C5 2¢ N+1 3 110 44.0 48.0
E21 E10 24 V+1 #9 -140 35.0 57.0|E11 E20 3v S+2 &5 200 32.0 60.0 | F13 F21 3¢ N= 46 110 44.0 48.0
F12 F20 INV+2 ¢5 -150 26.0 66.0 | F12 F20 2v S+3 &T 200 32.0 60.0| F15 F10 2¢ N+1 3 110 44.0 48.0
E15 E16 INV+2 ¢9 -150 26.0 66.0| F21 F6 2y S+3 ¢A 200 32.0 60.0 | E16 E17 3¢ N= 46 110 44.0 48.0
F19 F5 INO+2 ¢4 -150 26.0 66.0|C14 C11 INN+3 &K 180 240 68.0| F20 F6 2¢ N+1 49 110 44.0 48.0
Cl4 C11 INO+3 +6 -180 22.0 70.0| D2 D8 3vy S+1 A 170 18.0 740 A2 A4 24 O-1 +A 100 20.0 72.0
FA4 F17 1¢ S-2 *A -200 19.0 73.0| D6 D5 3vy S+1 3 170 180 740(B16 B4 2v V-1 ¢K 100 20.0 72.0
C7 C9 3v N-2 43 -200 19.0 73.0| F10 F16 24 N+2 ¢6 170 18.0 740 E20 E13 24 O-1 ¢A 100 20.0 72.0
E18 E13 2NO+3 4A -210 16.0 76.0 | F18 F11 2v S+2 3 170 18.0 740| E2 E8 INS-= 4 A 90 11.0 81.0
Al A3 3vy N-3 T -300 13.0 79.0|E21 E10 2y S+2 #4 170 18.0 740 F4 F16 INN= v3 90 11.0 81.0
F21 F6 2¢ S-3 YA -300 13.0 79.0| E2 E6 340-3 A 150 12.0 80.0| F9 F26 2¢ N= *2 90 11.0 81.0
F2 F26 3vyDN-2 &K -500 10.0 82.0| F4 F17 2¢v S+1 A 140 7.0 85.0(C12 C14 2¢ N= &7 90 11.0 81.0
E2 E6 3NV= v3 -600 7.0 85.0|E14 E17 3v S= ¢A 140 7.0 85.0(B14 B1l 2¢ N= a4 90 11.0 81.0
C5 C8 3NV= v5 -600 7.0 85.0|E15 E16 2v S+1 42 140 7.0 85.0( F19 F12 1¢ N+1 49 90 11.0 81.0
D2 D8 3NV+l1 9 -630 3.0 89.0|F19 F5 2vy S+1 43 140 70 8.0 E1 E9 4¢ N-1 ¢K -50 3.0 89.0
B10 B14 3NV +1 ¢9 -630 3.0 89.0| F8 F25 2NS= 2 120 2.0 90.0(B12 B3 3¢ N-1 ¢4 -50 3.0 89.0
E23 E8 3vyDN-3 #3 -800 0.0 92.0|E18 E13 INO-2 #A 100 0.0 92.0|D10 D7 2v O= ¢A -110 0.0 92.0
Cé - 48.1 Cé6 - 48.1 C1 - 44.0
- A2 51.5 - A2 51.5 - A3 48.3
- E4 46.4 - E4 46.4 - ES5 36.9
10 4 ED2 Basta kontrakt 11 465 Basta kontrakt 12 a5 Basta kontrakt
Ost v Kn6 5NT S =660 Syd v D876 3#V =-110 Vast v 954 2NTN =120
Alla ¢ ED6 Ingen ¢ 9743 NS ¢ EKD107
*E9743 & ¢ v & NT #ED3 & ¢ v & NT *E732 & ¢ v & NT
4Kn9865 &7 N 118 101011 a- 4EDKNn873 N 4 7 5 6 6 4 EK1074 486 N8 8 86 8
vD7 vE943 S 118 101011 v EKn53 v 1094 S47566 v 1062 vE73 S 8886 8
+432 ¢ Kn9875 025332 ¢+ D5 ¢ EKn6 095776 +8 ¢Kn96542 O5 5 4 75
#865 #KKn2 V25332 #K987642 #Kn V95776 *KD64 +98 V55475
4 K1043 4 K10942 4 DKn932
v K10852 v K2 v KDKn8
¢ K10 ¢ K1082 +3
«D10 105 #Kn105
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
A8 A5 4ANS+2 43 690 92.0 0.0|D12 D2 3¢DO-5 vK 1100 92.0 0.0|F20 F13 34DV-4 ¢A 800 92.0 0.0
El E9 3NN+2 7 660 82.0 10.0| B2 B9 54 O-4 +¢2 200 85.0 7.0 B2 B9 3NN= «9 600 87.0 5.0
E3 E7 3NN+2 +5 660 82.0 100 F2 F24 3NO-4 8 200 85.0 7.0 C8 C4 3NS= «A 600 87.0 5.0
C6 C9 3NN+2 ¢7 660 82.0 100| F4 F15 3NO-4 ¢2 200 85.0 7.0|D12 D2 3NS= «A 600 87.0 5.0
B7 B9 3NN+2 5 660 82.0 10.0| F5 F17 3NV-4 v7 200 85.0 7.0|E13 E22 3NS= «A 600 87.0 5.0
F8 F24 3NN+2 9 660 82.0 10.0| D7 D6 3NO-4 ¢2 200 85.0 7.0|D10 D8 2¢DN+1 48 380 82.0 10.0
F13 F21 3NN+2 7 660 82.0 10.0| A8 A5 44 O-4 &T 200 85.0 7.0| C9 Cl1l 24DV-2 v4 300 80.0 12.0
B15 B10 3NS+2 &5 660 82.0 10.0| F1 F22 3NO-3 42 150 72.0 200| B3 B7 3#V-5 ¢A 250 78.0 14.0
F15 F10 3NN+2 5 660 82.0 10.0| E2 E10 3NV-3 v6 150 72.0 20.0| D11 D5 3«4V-4 ¢A 200 76.0 16.0
F22 F7 3NN+2 ¢9 660 82.0 10.0| E3 E9 3NV-3 ¢3 150 72.0 20.0| F1 F22 2NS+2 &A 180 74.0 18.0
F1 F23 3NS+1 46 630 65.0 27.0| E4 E8 44 O-3 &T 150 72.0 20.0| A8 A5 2vS+2 «A 170 72.0 20.0
A2 A4 3NN+1 ¢7 630 65.0 27.0| C5 C12 3NO-3 ¢2 150 72.0 20.0| C5 Cl12 24 V-3 ¢A 150 70.0 22.0
B2 B6 3NN+1 5 630 65.0 27.0| C7 C10 3NO-3 ¢2 150 72.0 20.0| A2 A4 3v S= A 140 66.0 26.0
C8 C10 3NS+1 &5 630 65.0 27.0| F9 F25 3NV-3 v6 150 72.0 20.0| F9 F25 3v S= A 140 66.0 26.0
F11 F17 3NN+1 9 630 65.0 27.0| Al A6 3« V-2 &T 100 51.0 41.0| E20 E15 3v S= +8 140 66.0 26.0
D12 D2 3NS+1 48 630 65.0 27.0| Bl B4 34 0-2 8 100 51.0 41.0| C1 Cl14 2NS= K 120 62.0 30.0
F19 F12 3NN+1 7 630 65.0 27.0| A2 A4 34 0-2 +2 100 51.0 41.0| D3 D1 2v S= K 110 58.0 34.0
F20 F6 3NS+1 &5 630 65.0 27.0| F3 F26 3NV-2 ¢7 100 51.0 41.0| F4 F15 2v S= «A 110 58.0 34.0
E19 E14 4v S= 3 620 56.0 36.0| C8 C4 34 0-2 vK 100 51.0 41.0|F16 F11 2¢ N+1 ¢6 110 58.0 34.0
Al A6 3NN-= +5 600 46.0 46.0| C9 Cl11 5#V-2 &5 100 51.0 41.0|B14 B12 34 V-2 +A 100 54.0 38.0
Bl B8 3NN= +5 600 46.0 46.0| D9 D4 44 O-2 +8 100 51.0 41.0| F5 F17 2¢ N= 46 90 52.0 40.0
F2 F25 3NN-= +3 600 46.0 46.0| D10 D8 5#V-2 &6 100 51.0 41.0| F2 F24 24 V-1 +A 50 49.0 43.0
F3 F14 3NS= «5 600 46.0 46.0| F10 F14 4v V-2 9 100 51.0 41.0|B13 B6 34 V-1 +A 50 49.0 43.0
E4 E6 3NN= ¢5 600 46.0 46.0|D11 D5 34 O-2 5 100 51.0 41.0| E2 E10 2v S-1 4A -100 34.0 58.0
D7 D6 3NS= 9 600 46.0 46.0| E17 E18 34 O-2 +2 100 51.0 41.0| E3 E9 3vS-1 «A -100 34.0 58.0
E15 E18 3NN-= +9 600 46.0 46.0| E20 E15 4+V-2 vQ 100 51.0 41.0| E5 E7 34 S-1 &6 -100 34.0 58.0
E16 E17 3NN= ¢7 600 46.0 46.0 | F20 F13 3NO-2 ¢2 100 51.0 41.0| F6 F19 3v S-1 +38 -100 34.0 58.0
E22 E11 3NN= +9 600 46.0 46.0| F23 F8 3NV-2 v6 100 51.0 41.0| D7 D6 3NS-1 «A -100 34.0 58.0
B13 B5 INN+4 ¢9 210 36.0 56.0| C1 Cl14 3#V-1 v6 50 27.0 65.0| B8 B10 2¢ N-1 46 -100 34.0 58.0
D10 D8 2NN+2 ¢5 180 33.0 59.0| B5 B16 3#V-1 v7 50 27.0 65.0 | B11 B15 2¢ N-1 8 -100 34.0 58.0
E20 E13 2NN+2 &7 180 33.0 59.0| B8 B10 3NO-1 +38 50 27.0 65.0 | E11 E1 2v S-1 «A -100 34.0 58.0
F9 F26 INN+2 5 150 29.0 63.0| F12 F18 3#V-1 v6 50 27.0 65.0| F12 F18 2v S-1 +38 -100 34.0 58.0
Cl2 C14 INN+2 7 150 29.0 63.0|C13 C6 24 O-1 ¢2 50 27.0 65.0|C13 C6 3¢ N-1 T -100 34.0 58.0
E10 E23 24 S+1 v7 140 26.0 66.0|B14 B12 3NV-1 v7 50 27.0 65.0 | E21 E14 3¢ N-1 a8 -100 34.0 58.0
E2 E8 4v S-1 49 -100 18.0 74.0|E16 E19 34 O-1 ¢2 50 27.0 65.0| E23 E12 3NN-1 438 -100 34.0 58.0
D3 D1 5vS-1 vQ -100 18.0 74.0|E21 E14 34 O-1 ¢2 50 27.0 65.0| F23 F8 3NS-1 «A -100 34.0 58.0
F4 F16 3NN-1 5 -100 18.0 74.0|F21 F7 3#V-1 v6 50 27.0 65.0| Al A6 3¢ N-2 a8 -200 13.0 79.0
F5 F18 3NN-1 7 -100 18.0 74.0 | E23 E12 3# V-1 45 50 27.0 65.0| F3 F26 4v S-2 +38 -200 13.0 79.0
C7 C3 3NN-1 9 -100 18.0 74.0| B3 B7 3#V= 46 -110 12.0 80.0| B5 B16 3v S-2 4A -200 13.0 79.0
B12 B3 3NN-1 5 -100 18.0 74.0| D3 D1 3#V= a5 -110 12.0 80.0| C7 Cl10 4v S-2 «A -200 13.0 79.0
E12 E21 5 N-1 &7 -100 18.0 74.0| E5 E7 24 O= *2 -110 12.0 80.0| F10 F14 3v S-2 4A -200 13.0 79.0
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C4 C11 3NN-2 5 -200 6.0 86.0| F6 F19 24 O= &T -110 12.0 80.0 | E16 E19 2v S-2 +8 -200 13.0 79.0
D11 D5 3NN-2 ¢7 -200 6.0 86.0| F16 F11 3% V= 46 -110 12.0 80.0 |E17 E18 3¢ N-2 ¢33 -200 13.0 79.0
C13 C5 3NN-2 7 -200 6.0 86.0|B11 B15 3&#V+l1 v7 -130 6.0 86.0| F21 F7 3¢ N-2 48 -200 13.0 79.0
Bl4 Bll 4v S-2 &7 -200 6.0 86.0(B13 B6 34 O= +8 -140 4.0 88.0| D9 D4 3v S-3 4A -300 4.0 88.0
B16 B4 3NN-2 +¢8 -200 6.0 86.0 | E13 E22 34 S-3 &6 -150 2.0 90.0| B1 B4 3NS-4 44 -400 2.0 90.0
D9 D4 6NN-3 ¢7 -300 0.0 92.0|E11 E1 3NV+1 ¥8 -430 0.0 92.0| E4 E8 24DV= &A -470 0.0 92.0
C1 - 44.0 - C3 51.4 - C3 51.4
- A3 48.3 - A3 48.3 - A3 48.3
- E5 36.9 - E6 54.1 - E6 54.1
13 » E864 Basta kontrakt 14 & KKn4 Basta kontrakt 15 4 DKn73 Basta kontrakt
Nord vED74 54 N =650 Ost v ED9652 44 SD-1-100 Syd v EKD10 3v S =140
Alla + ED9 Ingen + Kn NS ¢ E95
*72 & ¢ v & NT *Kn76 & ¢ v & NT #Kn2 & ¢ v & NT
oK «Kn103 N5 8 11118 46 » E983 N4 3896 » 8654 «E9 N6 4985
v 983 v Kn2 S 58 11118 v 108 v KKn S 43896 v74 v 953 S65986
+82 ¢ KKn543 085223 ¢ KD654 ¢ 10983 09 103 4 6 ¢ KKn1082 ¢ 763 078455
#KKn96543 #D108 V85223 #D10843 #E52 V99346 *E8 *#KD765 V78455
4 D9752 4 D10752 4 K102
v K1065 v 743 v Kn862
41076 ¢E72 + D4
*E *K9 10943
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
A3 A5 44DV-3 «A 800 91.0 1.0|B12 B15 44DS= ¢K 590 91.0 1.0| A3 A5 4y N= K 620 91.0 1.0
B13 B7 5#4DV-3 ¢A 800 91.0 1.0|E14 E23 4vDN= T 590 91.0 10| E6 E10 4v S= +J 620 91.0 1.0
B2 B5 4vyN+3 ¢4 710 87.0 50| B9 Bll 4v N+1 ¢8 450 88.0 4.0|E19 E20 INN+3 &K 180 88.0 4.0
D12 D3 4v N+3 ¢3 710 87.0 5.0| Bl Bl4 4v N= +9 420 82.0 10.0| A2 Al 3v N+1 &K 170 84.0 8.0
E1l E13 4y N+2 «J 680 79.0 13.0| A2 Al 4y N= ¢T 420 82.0 10.0| E2 E14 3v N+1 7 170 84.0 8.0
B3 B10 4y N+2 «J 680 79.0 13.0| E3 El11 4y N= +8 420 82.0 10.0|C11 C1 2v N+2 #Q 170 84.0 8.0
C3 C4 49y N+2 4J 680 79.0 13.0|C10 C12 4y N= A 420 82.0 10.0| F3 F24 INN+2 &K 150 71.0 21.0
C8 Cl11 4v N+2 v2 680 79.0 13.0|F24 F9 4y N= ¢T 420 82.0 10.0| F5 F15 INN+2 #Q 150 71.0 21.0
B9 B1l 4y N+2 3 680 79.0 13.0|E22 E15 2NO-5 v3 250 76.0 16.0| F7 F19 INN+2 &K 150 71.0 21.0
C10 C12 4y N+2 &7 680 79.0 13.0| E1 E13 2y N+2 T 170 64.0 28.0| D8 D7 INN+2 &K 150 71.0 21.0
E3 E11 44 N+1 ¢J 650 64.0 28.0| F2 F23 3v N+1 &A 170 64.0 28.0| C9 Cl12 2NS+1 T 150 71.0 21.0
F3 F25 44 N+1 vJ 650 64.0 28.0| B3 B10 2v N+2 T 170 64.0 28.0| D9 D5 INN+2 &K 150 71.0 21.0
B4 B8 44 N+1 v2 650 64.0 28.0| C3 C4 3vy N+1 T 170 64.0 28.0|B13 B8 INN+2 &K 150 71.0 21.0
C6 Cl 4vN+1 ¢4 650 64.0 28.0| F5 F16 2v N+2 8 170 64.0 28.0|B15 Bl INN+2 &K 150 71.0 21.0
B12 B15 44 S+1 &9 650 64.0 28.0| C8 Cl11 3vy N+1 T 170 64.0 28.0| F18 F13 INN+2 &K 150 71.0 21.0
E12 E2 4v N+1 &T 650 64.0 28.0|D11 D6 2y N+2 T 170 64.0 28.0| F25 F10 INN+2 &K 150 71.0 21.0
E14 E23 44 N+1 &T 650 64.0 28.0| F11 F15 3v N+1 4A 170 64.0 28.0| D4 D2 2v N+1 «A 140 58.0 34.0
E17 E20 4v N+1 ¢4 650 64.0 28.0|C13 C7 2vy N+2 T 170 64.0 28.0| F6 F17 1v N+2 &7 140 58.0 34.0
F24 F9 44 N+1 vJ 650 64.0 28.0| F13 F19 2y N+2 8 170 64.0 28.0| F8 F21 3v S= A 140 58.0 34.0
D1 D10 3NS+1 #9 630 54.0 38.0|F21 F1 3v N+1 T 170 64.0 28.0| D1 D10 INN+1 &6 120 40.0 52.0
Bl B14 44 N= ¢5 620 41.0 51.0( A3 A5 3v N= 3 140 47.0 450 F1 F20 INN+1 &6 120 40.0 52.0
F2 F23 4v N= ¢4 620 41.0 51.0| E4 E10 3v N= A 140 47.0 450 B2 B14 INN+1 &5 120 40.0 52.0
E4 E10 44 S= +8 620 410 510 A6 A8 34 S= ¢+K 140 47.0 450 B5 B9 INN+1 &5 120 40.0 52.0
F5 F16 44 N= 8 620 410 510 C6 C1 2v N+1 T 140 47.0 450 B7 B16 INN+1 &5 120 40.0 52.0
A6 A8 44 S= +8 620 410 510 F7 F20 34 S= ¢+K 140 47.0 450|C10 C6 2NN= *7 120 40.0 52.0
E6 E8 44 S= #3620 410 51.0| D9 D5 3v N= ¢T 140 47.0 450 D11 D6 INN+1 &5 120 40.0 52.0
F7 F20 4v N= 8 620 41.0 510 C9 C5 2v N= T 110 40.0 52.0 (D12 D3 INN+1 «6 120 40.0 52.0
C9 C5 44 N= vJ 620 410 510 F6 F18 3NO-2 +3 100 37.0 55.0| F12 F16 INN+1 &K 120 40.0 52.0
D11 D6 44 N= vJ 620 410 51.0| D8 D7 5¢DO-1 +3 100 37.0 55.0|C14 C3 INN+1 6 120 40.0 52.0
E21 E16 44 S= 3 620 41.0 51.0( D1 D10 5¢ O-1 v7 50 31.0 61.0|E15 E1 INN+1 &K 120 40.0 52.0
F21 F1 44 S= +8 620 410 51.0( B2 B5 4¢ O-1 3 50 31.0 61.0|E22 E17 INN+1 &6 120 40.0 52.0
E22 E15 4v N= ] 620 41.0 51.0 |E21 E16 4¢ O-1 a2 50 31.0 61.0|F22 F2 INN+1 &7 120 40.0 52.0
A2 Al 24 S+4 +8 230 28.0 640|F22 F8 5¢ O-1 3 50 31.0 61.0| E23 E16 INN+1 &5 120 40.0 52.0
D4 D2 34 N+2 vJ 200 23.0 69.0| F3 F25 3v N-1 4A 50 23.0 69.0| F23 F9 INN+1 &6 120 40.0 52.0
E5 E9 34 N+2 #Q 200 23.0 69.0| D4 D2 4vy N-1 +8 -50 23.0 69.0| B4 Bll 24 N= +5 110 24.0 68.0
F11 F15 24 N+3 2 200 23.0 69.0| E6 E8 4y N-1 T -50 23.0 69.0| F4 F26 INN-= 5 90 21.0 71.0
Cl13 C7 24 N+3 vJ 200 23.0 69.0|D12 D3 34 S-1 T -50 23.0 69.0| E13 E3 INN= *6 90 21.0 71.0
F10 F26 34 S+1 #6 170 17.0 75.0 | E12 E2 4vy N-2 48 -100 16.0 76.0 |E18 E21 2¢ V-1 4Q 50 18.0 74.0
F17 F12 14 S+3 #6 170 17.0 75.0|B13 B7 5¢vyDN-1 T -100 16.0 76.0| B3 B6 INN-1 &5 -100 9.0 83.0
B16 B6 4#V-1 46 100 14.0 78.0| F17 F12 4y N-2 T -100 16.0 76.0| C4 C5 INN-1 &6 -100 9.0 83.0
FA F14 4v N-1  &T -100 8.0 84.0| B4 B8 34 O= v3 -110 11.0 81.0| E4 E12 3NN-1 &6 -100 9.0 83.0
F6 F18 4v N-1  #Q -100 8.0 84.0| F10 F26 3¢ O= v3 -110 11.0 81.0| E5 E11 INN-1 &7 -100 9.0 83.0
D8 D7 3v N-1 8 -100 8.0 84.0| E5 E9 3¢ V+1 YA -130 5.0 87.0] A6 A8 INN-1 7 -100 9.0 83.0
D9 D5 44 S-1 v3 -100 8.0 84.0|B16 B6 3¢ V+1 ¢J -130 5.0 87.0| E7 E9 3vy N-1 +6 -100 9.0 83.0
F13 F19 44 S-1 &3 -100 8.0 84.0|E17 E20 3¢ V+1 YA -130 5.0 87.0|F11 F14 4vy N-1 ¢33 -100 9.0 83.0
E18 E19 4v S-2 4Q -200 1.0 91.0 | E18 E19 44 O= v2 -130 5.0 87.0|C13 C8 3vy N-1 46 -100 9.0 83.0
F22 F8 4y N-2 &8 -200 1.0 91.0| F4 F14 4y N-3 3 -150 0.0 92.0|B10 B12 2¢ V+1 YA -110 0.0 92.0
- A4 42.4 - A4 42.4 - A4 42.4
C14 - 46.0 C14 - 46.0 C7 - 43.3
- E7 34.0 - E7 34.0 - E8 61.2
16 443 Basta kontrakt 17 41084 Basta kontrakt 18 4 DKn6 Basta kontrakt
Vast v ED5 5 N D -2 -300 Nord v8 3v O =-140 Ost v 109872 44 O D -3 500
oV + Kn85 Ingen + D9642 NS ¢ D42
#K9542 & ¢ v & NT *K642 & ¢ v & NT *42 & ¢ v & NT
« EKDKNn96 10872 N9 3734 « ED6G5 a72 N36 353 «E109832 454 N6 9969
vKn10 v 9764 S93734 vKD v EKn643 S 36353 v54 vEG3 S6 9969
¢+ ED74 ¢ 1092 049 6 109 + 873 ¢ KKn O 106 9 7 8 ¢ Kn103 465 07 4474
«D *E8 V496 109 #EKn109 #D873 V 106 9 7 8 *ED 21098753 V 7 4 47 4
a5 & KKn93 4 K7
v K832 v 109752 v KDKn
+ K63 ¢+ E105 + EK987
#Kn10763 *5 #KKn6
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
D1 D8 44 V-1 #4 100 89.0 3.0| B6 B10 3NV-5 ¢2 250 92.0 0.0|E23 E18 4v S+2 42 680 92.0 0.0
Cll1 C1 54V-1 3 100 89.0 30| C5 C6 4v 0O-3 &5 150 88.0 40| E6 E12 4vy S+1 48 650 88.0 4.0
E18 E21 44 O-1 42 100 89.0 3.0| D7 D11 4v O-3 49 150 88.0 4.0|B15 B2 4¢vS+1 +¢J 650 88.0 4.0
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E23 E16 54 V-1 #4 100 89.0 3.0|Bll1 Bl 4vV-3 +2 150 880 4.0|(B16 B8 4v N+l 45 650 880 4.0
E4 E12 54 N-2 T -100 84.0 80| E6 E12 24 S= vK 110 840 80| F4 F25 3NS+1 T 630 82.0 10.0
E2 E14 1a V+2 &4 -140 78.0 140| C4 Cl14 3NV-2 ¢4 100 760 16.0|(F12 F15 3NS+1 T 630 82.0 10.0
F3 F24 1a V+2 &4 -140 78.0 140| E7 E11 14 V-2 &2 100 760 16.0(F26 F11 3NS+1 43 630 820 10.0
F5 F15 14 V+2 &2 -140 78.0 140| F7 F18 3NV-2 6 100 76.0 16.0| D2 D10 4v S= 4A 620 71.0 21.0
F7 F19 34 V= &K -140 78.0 140| D9 D6 3NV-2 ¢6 100 76.0 16.0( E3 E15 4v S= 4T 620 71.0 21.0
D12 D4 14 V+2 &4 -140 78.0 140|F13 F17 3NV-2 ¢2 100 76.0 16.0| B6 B10 4v S= ¢3 620 710 21.0
A2 Al 14 V+3 ¢5 -170 58.0 340|E16 E2 3NV-2 ¢2 100 76.0 16.0| E8 E10 4v S= 4A 620 71.0 21.0
B2 Bl4 1a V+3 &4 -170 58.0 34.0|E23 E18 3v O-2 ¢A 100 76.0 16.0({Cl11l C7 4v N= 44 620 71.0 21.0
B4 B1l 1a V+3 ¢5 -170 58.0 34.0| A1 A8 3NV-1 ¢4 50 56.0 36.0(B13 B9 4v S= 4A 620 71.0 21.0
FA F26 14 V+3 &2 -170 58.0 340| D1 D8 3NV-1 ¢4 50 56.0 36.0 F13 F17 4v S= 4A 620 71.0 21.0
E5 E11 1a V+3 &5 -170 58.0 340| F2 F21 4v O-1 &5 50 56.0 36.0| E19 E22 4v S= #A 620 71.0 21.0
A6 A8 14 V+3 43 -170 58.0 340| A3 A2 4v V-1 48 50 56.0 36.0 F6 F16 3NS= 43 600 58.0 34.0
B7 B16 1a V+3 43 -170 58.0 34.0| E3 E15 3NO-1 5 50 56.0 36.0[ C8 C3 3NN= 9 600 58.0 34.0
F8 F21 14 V+3 ¢ -170 58.0 34.0| B5 B12 3NV-1 ¢2 50 56.0 36.0| F8 F20 3NS= 4T 600 580 34.0
Cl0 C6 1a V+3 &2 -170 58.0 34.0| E5 E13 4v O-1 49 50 56.0 36.0(D12 D4 3NS= 43 600 58.0 34.0
F11 F14 1a V+3 43 -170 58.0 34.0| F6 F16 3NV-1 ¢2 50 56.0 36.0(E14 E4 3NS= 48 600 58.0 34.0
F12 F16 14 V+3 &4 -170 58.0 34.0| F9 F22 2NV-1 ¢4 50 56.0 36.0|F19 F1 44DV-2 #4 300 52.0 40.0
B13 B8 14 V+3 &4 -170 58.0 340|C11 C7 3NV-1 ¢2 50 56.0 36.0( B5 B12 2NS+3 43 210 50.0 42.0
B15 Bl 14 V+3 44 -170 58.0 34.0|B13 B9 3NV-1 ¢4 50 56.0 36.0| C4 Cl14 3v N+2 45 200 47.0 45.0
E15 E1 14 V+3 &2 -170 58.0 340|B14 B3 3NO-1 v2 50 56.0 36.0| D9 D6 2y S+3 4T 200 47.0 45.0
F22 F2 1a V+3 5 -170 58.0 34.0|E19 E22 3NO-1 43 50 56.0 36.0[F23 F3 2NS+2 T 180 44.0 48.0
D2 D10 14 V+4 ¢5 -200 37.0 55.0| E20 E21 2NV = +4 -120 42.0 50.0| D7 D11 3v N+1 45 170  42.0 50.0
D5 D3 14 V+4 &4 -200 37.0 55.0| C8 C3 3#0+1 43 -130 39.0 53.0| E7 E11 2NS+1 4A 150 39.0 53.0
F6 F17 1a V+4 &2 -200 37.0 55.0|B16 B8 3#V+l ¢8 -130 39.0 53.0|E16 E2 3¢ N+2 43 150 39.0 53.0
E7 E9 1la V+4 &2 -200 37.0 55.0 | F12 F15 2v V+1 6 -140 36.0 56.0 | F24 F10 2v S+1 #A 140 36.0 56.0
B10 B12 14 V+4 v5 -200 37.0 55.0| F4 F25 2NO+1 ¥5 -150 34.0 58.0| A4 A6 2¢ S+1 v4 110 33.0 59.0
F23 F9 1a V+4 &5 -200 37.0 55.0| F5 F14 3NO= vT -400 27.0 65.0| C5 C6 3¢ S= 4A 110 33.0 59.0
B3 B6 54DN-2 47 -300 30.0 62.0| E8 E10 3NO= 43 -400 27.0 65.0| A1 A8 34 0-2 vK 100 280 64.0
C9 C12 54D N-3 42 -500 28.0 64.0|C10 C1 3NO-= v2 -400 27.0 65.0|C13 C9 44DV-1 #4 100 28.0 64.0
F1 F20 44 V= +5 -620 14.0 780|B15 B2 54 0= ¢A -400 27.0 65.0|B14 B3 44 V-2 T 100 280 64.0
A3 A5 4a V= *4 -620 14.0 78.0| F24 F10 3NO= 49 -400 27.0 65.0| B4 B7 24 V-1 &4 50 24.0 68.0
C4 C5 4e V= a4 -620 14.0 78.0| F26 F11 3NO= vT -400 27.0 65.0| D1 D8 4¢ S-1 4A -100 13.0 79.0
E6 E10 44 V= vA -620 14.0 78.0| A4 A6 4v O= +A -420 20.0 72.0| E1 E17 4y N-1 &T -100 13.0 79.0
D7 D11 44 O= 45 -620 14.0 78.0| E1 E17 3NO+1 45 -430 13.0 79.0| F2 F21 4v N-1 45 -100 13.0 79.0
D9 D6 44 V= &K -620 14.0 780| B4 B7 3NO+1 43 -430 13.0 79.0| A3 A2 4vy N-1 45 -100 13.0 79.0
C13 C8 44 V= 43 -620 14.0 78.0| D5 D3 3NO+1 43 -430 13.0 79.0| D5 D3 4v S-1 4A -100 13.0 79.0
E13 E3 4e V= +8 -620 14.0 78.0|D12 D4 3NO+1 T -430 13.0 79.0| E5 E13 3NS-1 oT -100 13.0 79.0
Cl4 C3 4e V= 43 -620 14.0 780|E14 E4 3NO+1 43 -430 13.0 79.0| F5 F14 4v N-1 4A -100 13.0 79.0
F18 F13 44 V= *4 -620 14.0 780 |F19 F1 3NO+1 5 -430 13.0 79.0| F7 F18 3v S-1 ¢J -100 13.0 79.0
E19 E20 4e V= a4 -620 14.0 78.0| D2 D10 3NO+2 43 -460 4.0 88.0| F9 F22 4v S-1 #A -100 13.0 79.0
E22 E17 44 V= YA -620 14.0 78.0| F8 F20 3NO+2 49 -460 4.0 88.0|C10 C1 4v S-1 4A -100 13.0 79.0
F25 F10 44 V= *K -620 14.0 780|F23 F3 3NO+2 ¢5 -460 4.0 88.0|B11 Bl 5¢ N-2 T -200 2.0 90.0
B5 B9 44 V+1 &2 -650 0.0 92.0|C13 C9 3vyDO+1 #5 -630 0.0 92.0| E20 E21 5vDN-2 3 -500 0.0 92.0
- A4 42.4 - A5 28.5 - A5 28.5
c7 - 43.3 C12 - 325 C12 - 325
- E8 61.2 - E9 59.9 - E9 59.9
19 4976 Basta kontrakt 20 4 Kn102 Basta kontrakt 21 4 E765 Basta kontrakt
Syd vD5 34 SD-1-100 Vast v DKn954 2NTV =-120 Nord v KDKn984 2NT O D -1 100
ov ¢ KKn643 Alla ¢ 74 NS +8
#Kn53 & ¢ v & NT #K105 & ¢ v & NT 87 & ¢ v &4 NT
442 4 K85 N49 486 D3 48754 N63774 492 4 K843 N48885
vEK1097 v843 S 49488 v K2 v 10763 S64774 v73 vE62 S 48885
+9 ¢ E872 094955 ¢ EKKn1083 492 0796 68 ¢ D52 ¢ 1076 085357
#KD1098 4642 V849414 *Kn76 +ED8 V796638 #DKn9643 #EK10 V85357
4 EDKn103 4 EK96 4 DKn10
v Kn62 vE8 v 105
¢ D105 ¢ D65 ¢ EKKn943
»E7 #9432 #52
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
F9 F21 4v V-3 49 300 920 O0.0|F25 F11 24 S= vK 110 920 0.0(B13 B1l1 2¢vDN+1 #A 870 920 0.0
Bl4 B4 3vyV-2 49 200 900 20| D3 D10 3¢ V-1 vQ 100 880 40| F1 F17 4v N= #A 620 89.0 3.0
F5 F26 24 N+2 49 170 88.0 4.0| E9 E11 2¢ V-1 v4 100 880 40| A2 A8 4v N= #A 620 89.0 3.0
D6 D4 24 S+1 <vA 140 830 9.0(B14 B4 3¢ V-1 «J 100 880 4.0| E5 E17 2¢v N+2 #A 170 840 80
F6 F15 24 S+1 vA 140 83.0 9.0| C1 C3 2¢ V= vJ -90 74.0 18.0(B16 B10 2vy N+2 &A 170 84.0 8.0
D12 D5 34 S= vyA 140 83.0 90| F3 F22 2¢ V= vQ -90 740 180|F21 F3 3vyN+1 #A 170 84.0 8.0
F24 F4 24 S+1 vA 140 830 9.0( A4 A6 1¢ V+1 v5 -90 740 180| C1 C9 5#V-3 8 150 80.0 12.0
A3 A2 24 S= vA 110 70.0 22.0| B6 Bl 2¢ V= v9 -90 740 180| F2 F19 2vy N+1 #A 140 71.0 21.0
D3 D10 24 S= vK 110 70.0 220| F6 F15 2¢ V= vQ -90 74.0 18.0| D3 D10 2vy N+1 &A 140 71.0 21.0
F3 F22 24 S= vA 110 70.0 22.0| B7 B1ll 2¢ V= vQ -90 74.0 180 E3 E19 3v N= &K 140 710 21.0
B5 B8 24 S= vyA 110 700 22.0| E8 El12 2¢ V= N -90 740 18.0| F4 F23 3y N= A 140 710 21.0
F7 F17 24 N= ¢9 110 70.0 22.0| B9 B16 2¢ V= N -90 740 18.0| B7 B2 3y N= #A 140 710 21.0
E8 E12 24 S= vA 110 70.0 220| C9 C4 2¢ V= #5 -90 74.0 18.0(C10 C5 3v N= &K 140 710 21.0
F8 F19 24 S= vA 110 70.0 22.0|B13 B10 2¢ V= v5 -90 740 18.0|E10 E12 2vy N+1 #A 140 71.0 21.0
E9 E11 24 S= vyA 110 700 22.0|F24 F4 2¢ V= v6 -90 740 18.0|C13 Cl1l1 2v N+1 #A 140 71.0 21.0
F10 F23 24 S= vA 110 70.0 220| B5 B8 24 N-1 9 -100 55.0 37.0|C14 C6 2v N= «A 110 62.0 30.0
El E19 3vV-1 49 100 56.0 36.0| C6 C7 2vN-1 +¢9 -100 55.0 37.0| Bl B3 54V-2 4A 100 580 34.0
B9 B16 2v V-1 49 100 56.0 36.0( D6 D4 2v N-1 +9 -100 55.0 37.0| B8 B12 54V-2 vK 100 58.0 34.0
Cl2 C8 4v V-1 46 100 56.0 36.0| E7 E13 24 S-1 ¥vK -100 55.0 37.0|E16 E6 3NO-2 ¢K 100 580 34.0
E20 E23 4v V-1 46 100 56.0 36.0| F7 F17 34 S-1 +¢A -100 55.0 37.0| D2 D1 4#V-1 vQ 50 50.0 42.0
F25 F11 4v V-1 49 100 56.0 36.0({B12 B2 2vy N-1 +¢9 -100 55.0 37.0| B4 B15 5#V-1 8 50 50.0 42.0
E6 E14 INS= vK 90 50.0 42.0(E15 E5 24 S-1 +A -100 55.0 37.0| B6 B9 4#V-1 K 50 50.0 42.0
F1 F18 44 S-1 vA -50 39.0 53.0|E21 E22 24 S-1 +A -100 55.0 37.0| D9 D7 3#V-1 4A 50 50.0 42.0
D2 D1 34S-1 YA -50 39.0 53.0| F1 F18 2¢ V+1 &) -110 36.0 56.0|E21 E1 4#V-1 K 50 50.0 42.0
B3 B15 44 S-1 vA -50 39.0 53.0( D2 D1 2¢ V+1 ¥5 -110 36.0 56.0| A4 A3 4v N-1 #A -100 32.0 60.0
E4 E16 34 S-1 vK -50 39.0 53.0| E2 E18 3¢ V= vQ -110 36.0 56.0| A5 Al 2v N-1 #A -100 32.0 60.0
C5 Cl14 34 S-1 +9 -50 39.0 53.0( C5 C14 2¢ V+1 5 -110 36.0 56.0| B5 B14 4v N-1 #A -100 32.0 60.0
B6 Bl 34S-1 vA -50 39.0 53.0| D8 D11 2¢ V+1 4] -110 36.0 56.0| D6 D4 4v N-1 #A -100 32.0 60.0
B7 Bll 24 S-1 vA -50 39.0 53.0| F9 F21 2¢ V+1 4] -110 36.0 56.0| F6 F14 3¢ S-1 49 -100 32.0 60.0
C9 C4 3+4S-1 vA -50 39.0 53.0| F10 F23 2¢ V+1 &) -110 36.0 56.0| C7 C8 3v N-1 #A -100 32.0 60.0
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B13 B10 34 S-1 vA -50 39.0 53.0|C12 C8 3¢ V= v4 -110 36.0 56.0| E7 E15 3v N-1 &A -100 32.0 60.0
F14 F12 24 S-1 vA -50 39.0 53.0|C13 C10 2¢ V+1 7 -110 36.0 56.0| D8 D11 34 N-1 &K -100 32.0 60.0
Al A8 34 S-2 vA -100 24.0 68.0|F14 F12 2¢ V+1 ¢4 -110 36.0 56.0| E8 E14 4v N-1 &A -100 32.0 60.0
A4 A6 34 S-2 vK -100 24.0 68.0|F20 F2 2¢ V+1 &9 -110 36.0 56.0| F8 F18 4v N-1 43 -100 32.0 60.0
B12 B2 44 S-2 49 -100 24.0 68.0| D9 D7 3¢ V+1 &5 -130 21.0 71.0|F11 F24 4v N-1 &K -100 32.0 60.0
C13 C10 34 S-2 vK -100 24.0 68.0| F13 F16 2¢ V+2 &5 -130 21.0 71.0|D12 D5 4vy N-1 #A -100 32.0 60.0
E21 E22 34 S-2 9 -100 24.0 68.0|E17 E3 2¢ V+2 v5 -130 21.0 71.0|F25 F5 3v N-1 &A -100 32.0 60.0
Cl C3 2vV+1l a7 -140 14.0 78.0 | E20 E23 2¢ V+2 vQ -130 21.0 71.0| E2 E20 14 O+2 +A -110 17.0 75.0
E2 E18 2vV+1 ¢3 -140 14.0 780| A3 A2 24 S-2 +A -200 13.0 79.0 | F10 F22 3& V= vK -110 17.0 75.0
C6 C7 3vV= 49 -140 14.0 780| E4 E16 2y N-2 2 -200 13.0 79.0|E18 E4 2NO= 4Q -120 14.0 78.0
E15 E5 2v V+1l «6 -140 14.0 780| F5 F26 24 N-2 +¢A -200 13.0 79.0|C12 C3 4¢ S-2 &J -200 10.0 82.0
F20 F2 3y V= a9 -140 14.0 780| F8 F19 24 S-2 +A -200 13.0 79.0| F15 F13 4vDN-1 3 -200 10.0 82.0
F13 F16 34 S-3 vA -150 8.0 84.0| A1l A8 24 S-3 +A -300 5.0 87.0|E22 E23 4vyDN-1 #A -200 10.0 82.0
D8 D11 2v V+2 46 -170 6.0 86.0| E1 E19 2¢v N-3 9 -300 5.0 87.0| F7 F16 5v N-3 &A -300 4.0 88.0
E17 E3 3v O+2 &A -200 4.0 88.0| B3 B15 24 S-3 +¢A -300 5.0 87.0| E9 E13 2NS-3 *Q -300 4.0 88.0
E7 E13 4v O= oT -620 1.0 91.0| E6 E14 3vy N-3 9 -300 5.0 87.0|F26 F12 4y N-3 &A -300 4.0 88.0
D9 D7 4v O= SA -620 1.0 91.0|D12 D5 3NS-5 *A -500 0.0 92.0| F9 F20 4vDN-2 #A -500 0.0 92.0
- A5 28.5 - A5 28.5 - C4 36.1
C11 - 47.3 C11 - 47.3 - A6 54.7
- E10 42.8 - E10 42.8 - E11 325
22 4 EKD843 Basta kontrakt 23 4108754 Basta kontrakt 24 4 E£10842 Basta kontrakt
Ost v 754 54 SD-1-100 Syd vKn8 3v V =-140 Vast v KKn62 5¢ VD -2300
ov *2 Alla ¢ 654 Ingen +D4
&#E96 & ¢ v & NT #975 & ¢ v & NT &E9 & ¢ v & NT
410 49 N2 5 2 107 4 K9 & Kn632 N7 7 364 46 & DKn953 N5 4 108 7
v KD982 vE103 S 25 2 107 v KD10743 v952 S77 364 v7 v 983 S 5 4 108 7
+6 ¢EDKNn853 O 117 9 3 6 ¢E ¢ K832 O6 5978 ¢ EKKn972 ¢ 853 06 9355
#K107543 #Kn82 V 117 9 3 6 #8642 &E10 V65978 #KD532 »86 V69355
& Kn7652 &ED & K7
v Kn6 vE6 vED1054
+ K10974 + DKn1097 + 106
&D #KDKn3 #Knl074
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
B4 B15 54DN= &2 650 92.0 0.0(C13 Ci12 4vDV-2 &9 500 920 0.0 F8 F17 4vy N+1 &6 450 92.0 0.0
B13 Bll 44 N+1 ¢5 450 90.0 20| B2 B4 3vyV-2 ¢7 200 89.0 3.0 B2 B4 4y S= ¢A 420 83.0 9.0
A2 A8 44 N= vA 420 73.0 19.0( E4 E20 4vyDV-1 ¢4 200 89.0 3.0| E3 E21 4y S= *A 420 83.0 9.0
E2 E20 44 N= vA 420 73.0 19.0|E17 E7 4¢ S= v4 130 86.0 6.0 E6 E18 4v S= &K 420 83.0 9.0
F2 F19 44 N= vA 420 73.0 19.0( E6 E18 2¢ S+1 3 110 84.0 80| D7 D5 4y S= ¢A 420 83.0 9.0
E3 E19 44 N= 8 420 73.0 19.0| D6 D12 4v V-1 +4 100 78.0 14.0 (B11 B16 4v N= +8 420 83.0 9.0
A4 A3 4e N= vA 420 73.0 19.0( B7 B10 3v V-1 49 100 78.0 140 (E17 E7 4vy S= ¢K 420 83.0 9.0
D4 D10 44 N= vA 420 73.0 19.0(F12 F25 4v V-1 46 100 78.0 140(E22 E2 4vy S= ¢A 420 83.0 9.0
F4 F23 44 N= vA 420 73.0 19.0|E22 E2 3vy V-1 +4 100 78.0 140 F22 F4 4y S= *A 420 83.0 9.0
B6 B9 44 S= vK 420 73.0 190(F26 F6 4v V-1 +6 100 78.0 140| C3 C5 5¢DV-2 vJ 300 71.0 21.0
F6 F14 44 N= v3 420 73.0 19.0| F10 F21 2v V= &9 -110 72.0 200| A5 Al 5¢DO-2 vA 300 71.0 21.0
B7 B2 44 N= vA 420 73.0 19.0(B11 B16 INO+1 7 -120 70.0 22.0| C8 C9 5¢DV-2 v6 300 71.0 21.0
F7 F16 44 S= 6 420 73.0 19.0( E3 E21 2v V+1l 46 -140 62.0 30.0|C1l4 C7 5¢DV-2 «A 300 71.0 21.0
B8 B12 44 N= &J 420 73.0 19.0( C8 C9 3v V= +5 -140 62.0 30.0| C1 C4 3vS+2 +K 200 64.0 28.0
E8 El14 44 S= 6 420 73.0 19.0( D9 D8 3v V= +6 -140 62.0 30.0| F3 F20 3vy S+2 ¢A 200 64.0 28.0
F9 F20 44 N= vA 420 73.0 19.0( E9 E15 3v V= &7 -140 62.0 30.0| E8 E16 3y N+2 ¢5 200 64.0 28.0
C13 C11 44 N= ¢A 420 73.0 19.0(F11 F23 3v V= &9 -140 62.0 30.0| D1 D11 3vS+1 ¢A 170 50.0 42.0
F25 F5 44 N= vA 420 73.0 19.0 | B13 B12 2v V+1 +¢6 -140 62.0 30.0| F5 F24 3vS+1 +A 170 50.0 42.0
Cl2 C3 5vV-3 &A 300 56.0 36.0(E23 E1 3v O= &K -140 62.0 30.0| B6 B14 3v S+1 ¢A 170 50.0 42.0
Bl B3 5vV-2 &A 200 49.0 430 C1 C4 3vV+1l &5 -170 44.0 48.0| B7 B10 3v S+1 ¢A 170 50.0 42.0
D3 D2 24 N+3 vA 200 49.0 43.0| A2 A8 3vy O+1 &K -170 44.0 480| F7 F15 3v S+1 ¢A 170 50.0 42.0
F10 F22 4v V-2 «A 200 49.0 43.0| F2 F18 3vV+1l +6 -170 440 480| B9 Bl 3vS+1 ¢A 170 50.0 42.0
F11 F24 34 N+2 4«9 200 49.0 43.0| D3 D2 2vV+2 +6 -170 44.0 48.0| E9 E15 3v S+1 46 170 50.0 42.0
F15 F13 5v V-2 «A 200 49.0 43.0| F3 F20 3vV+1l ¢4 -170 440 480|Cl1 C6 3v S+1 ¢A 170 50.0 42.0
E18 E4 3¢ O-2 45 200 49.0 43.0| D4 D10 3v V+1l 8 -170 44.0 480|F12 F25 3v S+1 ¢A 170 50.0 42.0
D1 D11 34 N+1 &J 170 34.0 58.0( A5 Al 3v V+1l &5 -170 44.0 480|Fl14 F13 3v S+1 ¢A 170 50.0 42.0
F1 F17 34 N+1 vA 170 34.0 58.0( B8 B3 3vV+l +¢6 -170 440 48.0|B15 B5 3vS+1 ¢A 170 50.0 42.0
E5 E17 34 N+1 ¢A 170 34.0 580 F8 F17 3v V+1 ¢4 -170 44.0 48.0| D4 D10 2v S+1 ¢K 140 35.0 57.0
E9 E13 34 N+1 v3 170 34.0 58.0( F9 F19 2v V+2 &9 -170 44.0 480| F9 F19 3v S= ¢A 140 35.0 57.0
E10 E12 24 N+2 vA 170 34.0 58.0(F14 F13 3v V+1 45 -170 44.0 48.0 | E10 E14 3v S= ¢A 140 35.0 57.0
Cl4 C6 3« N+1 vA 170 34.0 580 C3 C5 4¢ S-2 4 -200 28.0 64.0|E19 E5 3v S= ¢A 140 35.0 57.0
E21 E1 34 N+1 v3 170 34.0 580 F5 F24 2NN-2 vK -200 28.0 640| D3 D2 5¢ V-2 vK 100 27.0 65.0
E22 E23 34 N+1 %8 170 34.0 58.0( B6 B14 3¢ S-2 vK -200 28.0 64.0| E4 E20 5¢DV-1 #A 100 27.0 65.0
F26 F12 34 N+1 &J 170 34.0 58.0( B9 Bl 3¢ S-2 vK -200 28.0 64.0| D6 D12 5¢DV-1 «A 100 27.0 65.0
A5 Al 34 N= v3 140 23.0 69.0(F16 F1 3¢ S-2 vK -200 28.0 64.0|B13 B12 5¢DV-1 #A 100 27.0 65.0
B5 B14 34 N= ¢A 140 23.0 69.0( D7 D5 3¢ S-3 vK -300 19.0 73.0| B8 B3 5¢ V-1 &A 50 20.0 72.0
Cl C9 5vV-1 &K 100 16.0 76.0| F7 F15 2NS-3 vT -300 19.0 73.0| D9 D8 5¢ V-1 &A 50 20.0 72.0
D7 D5 5vV-1 &K 100 16.0 76.0| E8 E16 34 N-3 ¢3 -300 19.0 73.0|E11 E13 5¢ V-1 v2 50 20.0 72.0
E7 E15 2¢ O-1 #J 100 16.0 76.0(C11 C6 4¢ N-3 ¢K -300 19.0 73.0| F11 F23 4v S-1 +A -50 13.0 79.0
E16 E6 5vO-1 «A 100 16.0 76.0 | E10 E14 2NS-4 v4 -400 12.0 80.0|F16 F1 5v N-1 %8 -50 13.0 79.0
F21 F3 5vV-1 &A 100 16.0 76.0|(C14 C7 2NS-4 vK -400 12.0 80.0|E23 E1 5v N-1 %8 -50 13.0 79.0
B16 B10 44 N-1 ¢A -50 10.0 82.0|E19 E5 2NS-4 vK -400 12.0 80.0|F26 F6 4v S-1 +¢A -50 13.0 79.0
Cl10 C5 44 N-6 3 -300 8.0 84.0| D1 D11 4v V= +6 620 7.0 85.0| F2 F18 2¢ V+1 &A -110 8.0 84.0
D6 D12 4v V= s A -620 5.0 87.0|F22 F4 4v V= +6 620 7.0 85.0| A2 A8 4¢ V= s A -130 4.0 88.0
F8 F18 4v V= s A -620 5.0 87.0|E11 E13 4v V+1 +6 -650 4.0 88.0| A4 A3 4e V= v5 -130 4.0 88.0
C7 C8 5v V= aA -650 1.0 91.0|B15 B5 4vyDV= ¢4 -790 2.0 90.0| F10 F21 3¢ V+1 &A -130 4.0 88.0
D9 D8 4y V+1 aA -650 1.0 92.0| A4 A3 3NDS-5 ¥vK -1400 0.0 92.0|C13 C12 44 N-3 v9 -150 0.0 92.0
- C4 36.1 - C10 45.5 - C10 45.5
- A6 54.7 - A6 54.7 - A6 54.7
- E11 32,5 - E12 40.1 - E12 40.1
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